1.

log, (x — 8) 2] gko] ZA5}H7] $Igt x o] ¥ 9=2

D x>4 @ x<4 ® x<6 @ x>8

® x>38



2.

24
log, 5 V3 + log, T log, 3V3 9] 27

O 2 @ 3 ® 5

@ log, 5

® log, 6



=

o & Fsfoler.
S



® log, b

@ b ® o @ b?

a



5. log;9"8s8 9] gh-& Fatoiet,



logs 243 logy 3-1 6
6. 5logs 85 3-10g5 6 o] 7+ 09

@® 1 @ 3 ® 5



59 =2, 5" = 3012t & uf, logs 72 € a®t b O] A2z Ht=A] e

AL

a+b 2a +b 2a—b
O a—-b @ b-a ® a+b
2a+ b ©§M+2b

a+b a+b



8. o= F A A3t ohe st

@ 910g94 @ 1Og\625

® log @ log, 81

1
L —
2 16
® log, 3 -logz 5 - logs 16



9. a=log,(3- V8) ¥ W, 2¢ +279] gr2?

D 22 @ 2vV2+1 ® 243
@ 2V3+1 ® 42



10. a=— log;(logs 7) Ql uj, 44 9] gre?
2logs 2

D logs7 @ logs5 @ 3952 @ 3osss (3 3loss7



11. logo(141)+logy, (1

o] grg Fafedel.

5 J=X
=%

L1
2

1
)+1og10 (1 + §) +

14+ —
+99

)



12 log, V71 V29| 258 ES e & o, 251 o] 2 Fohu?

O V3+1 @ V5+1 ® V6+1
@ V741 ® 2V2+1



13. log;250 =n+a(nS 34, 0<a< 1)L T o, nx 259 2] 29

D L
=%



14. log, 149] A4HH-2 a(0 <a < 1)oleh & 1, 2072 9] g2 Fafelet.

D L
=%



15. 18t 2 35 a, b, el Hstel p = a'2 = b* = (abe)? 2 W, log, p
o @& T

) @

S| =



16. 2log(a - 2b) = log 2b + log(62b — a) 2 U, % o) gre Fstolal,

5 J=X
=%



17. a*¥log, b S T Eol HERH

ofmf, -9 @l Lot Fh2?




18. log43.1 =1.3645 < of,
a =log 4310, logh = —1.3655 2} 5, a + 100b 9] F1-2?

@® 2.9745 @ 4.0665 ® 7.9445

@ 3.1932 ® 5.5913



19. AABCE Al ¥ a,b,coll HHdtA
108 41p) € + 1084 € = 2108, 1) € - 10g () c 2 B2 VAT JHT
o, AABC+ o|® A2 @717 (Fha>b,c#1)



20.  xof Hiet oJAFA A x* —9ax+81 = 02 0] @, BoIAL, xof Tt
} 1 1 3
O AFA x2 +ax+b =09 F O] log; —, logy — & o, =+
ler 8l @
o] gr& TR, ab # 0)



